MATH ACTIVITIES - LEVEL 2

WITH
CLEVER HEDGEHOG
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TRl SOLVE THE PROBLEM AND WRITE THE ANSWER
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CONNECT THE DOTS FROM NUMBER 1 AND UP TO SEE WHAT aNIMALS
CLEVER HEDGEHOG MET ON HIS LAST TRIP. COLOR THE ANIMALS.
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STQLIES SOLVE THE PROBLEM

Ivan got a task to hand out tickets to classmates

for the school play. He has to give out 83 tickets.

He gave away 15 tickets; he lost 5 tickets; 3
Ch tickets were eaten by a dog; and 4 tickets he
kept for his family. How many more tickets
‘m,a should Ivan hand out?

GUESS WHAT SHOULD BE IN THE EMPTY BOX
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STOUES  npp, SUBTRACT, MULTIPLY, AND DIVIDE TO 4 SOLUTION.
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WRITE THE RIGHT ANSWER [N THE EMPTY BOX.

+30 -2

u ./N35?ND/_N m@ 5

SOLVE EQUATIONS. FIND THE LETTER THAT CORRESPONDS TO THE
NUMBER. TRY TO GUESS THE CYPHERED NAME.
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Example:
3X6+3 =Z21|P
2Xx2+1 55| A
2X5-9 51 |N
2X4-5 93| D
2x2+1 =[5 | A
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Fetem SOLVE EQUATIONS

An oak tree is 23 years older than a birch
tree. The birch tree is 55 years old. How
old is the oak tree?

The elephant used 25 small
buckets and 13 big buckets of sand
to build a sand castle. How many -
buckets of sand were used in total?
e

A fisherman caught 4 fish. His friend
caught 3 times more fish than the
fisherman. How many fish did the

fisherman'’s friend catch?

Princess Cinderella can plant 15 rose
bushes in 3 hours. How many rose
bushes can Cinderella plant in 1 hour?
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e SOLVE EQUATIONS
45-(5x6)= (27:3)+28=
WHAT IS 16:2=| > < = |16:6= ’
MORE, LESS 8-62 > < = |24-4= <
OR EQUAL TO?
4x2=| > < = | 2X4=
pd

@ \ SOLVE THE PROBLEM
8lb 5lb
—a Mom put vegetables and fruits on the scales:
L 71b of tomatoes, 8Ib of apples, and 5Ib of pears.
What is the current weight on the scales?

DRAW TWICE AS MANY BALLS HERE AS THERE ARE CaARS
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